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Roll NO.....ccoveeen .

Time allowed : 3 hours Maximum marks : 100

Total number of questions : 6

NOTE :

1

Total number of printed pages : 7

1. Answer ALL Questions.

2. Tables showing the present value of ¥1 and the present value of an annuity of
<1 for 15 years are annexed.

Comment on the following :

(@ Financial management has changed significantly in its scope and complexity in
recent times.
(b) Loan syndication is one of the project finance services.
() Working capital management is all about deciding the level, structure and financing of
current assets.
(d) Treasury operations are important in banking due to huge funds involved.
(5 marks each)
Attempt all parts of either Q.No. 2 or Q.No. 2A
2. Digtinguish between the following :
(@ 'Currency futures and 'currency options in forex trading.
(b) 'Operating leverage' and ‘financia leverage'.
() 'Leasing' and 'hire-purchase’.
(d) ‘'Efficient portfolio' and ‘optimal portfolio'.
(4 marks each)
OR (Alternate guestion to Q.No. 2)
2A. (i) Foreign exchange market provides a mechanism for transfer of purchasing power from
one currency to another for its various constituents. Discuss.
(4 marks)
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(i) Mention the steps taken by financial institutions while appraising a project.

(4 marks)
(iii) What are the main determinants of dividend policy in a company ?

(4 marks)
(iv) Capital rationing does not lead to optimum results. Discuss.

(4 marks)

Attempt all parts of either Q.No. 3 or Q.No. 3A

3. (@ ABC Ltd. has an average sdlling price of ¥10 per unit. Its variable unit costs are I7
and fixed costs amount to I1,70,000. It finances all its assets by equity funds. It pays
30% tax on its income. PQR Ltd. is identical to ABC Ltd. except in respect of the
pattern of financing. The latter finances its assets 50% by equity and 50% by debt, the
interest on which amounts to I20,000.

Determine the degree of operating, financial and combined leverages at I7,00,000 sales
for both the companies and interpret the results.

(4 marks)

(b) Product-Y is sold for 20 per unit. The demand for the product is at a constant rate

of 2,000 units per month. The cost price per unit is ¥10. The ordering cost is I1.20

per order and the carrying cost is 10% per annum. Calculate EOQ and number of orders
needed per year.

(4 marks)

() The rate of inflation in USA is likely to be 3% per annum and in India it is likely

to be 6.5%. The current spot rate of US $ in India is ¥68.40. Find the expected rate

of US $ in India after 1 year and 3 years from now using purchasing power parity
theory.

(4 marks)
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(d) The following data relate to two securities, A and B :

A B
Expected return 22% 17%
Beta factor (3) 15 0.7

Assume RF = 10% and RM = 18%.
Find out whether the securities, A and B are correctly priced ?

(4 marks)
OR (Alternate question to Q.No. 3)

3A. (i) Current price of share of acompany is%60 and dividend per shareis34. If its capitalisation
rate is 12%, what is the dividend growth rate ?

(4 marks)

(i) Radha bought a 3-month call option on A Ltd.'s share with an exercise price of
I50 at a premium of I4. She has also bought a put option on the same share at
an exercise price of I40 at a premium of ¥1.50. A's share is currently selling at ¥45.
What will be Radhas position after three months if the share price turns out to
be 50 or ¥30 ?

(4 marks)

(iii) The credit sales of a firm is %¥6,40,000. It has a gross profit margin of 15% and a
current ratio of 2.5. The firm's current liabilities are ¥96,000; inventories ¥48,000 and
cash ¥16,000.

(@ Determine the average inventory to be carried by the firm, if an inventory turnover
of 5 times is expected. (assume 360 days in a year);

(b) What is the average collection period ?
(4 marks)

(iv) A company is planning to purchase a machine. It costs ¥50,000 and has no salvage
value. The expected life of machine is 5 years and company applies straight line method
of depreciation. The estimated earnings after tax are ¥5,000 each year for 5 years.
Required rate of return of the company after tax is 12%. Should the company purchase
the machine using NPV method ?

(4 marks)

2-2/2016/FTFM PT.O.
335/2



335

4 @

(b)

©
©)

(b)

A new project under consideration requires a capital outlay of ¥300 lakh for which the
funds can either be raised by issue of equity shares of 100 each for the entire sum
or by issue of equity shares to the tune of ¥200 lakh and by issue of 15% loan of
<100 lakh. Find out the indifference level of EBIT, if the tax rate is 50%.

A perpetua bond of 100 is currently selling for ¥95. The coupon rate is 13.5% and
the appropriate rate of discount is 15%. Calculate the value of the bond. Should it
be bought ? What is its yield at maturity ?

Financial services are fundamental to economic growth and development. Explain.
What is operating lease ?

(4 marks each)

A company is currently paying a dividend of ¥2 per share. The dividend is expected
to grow at 15% annually for three years, then at 10% rate for the next three years after
which it is expected to grow at 5% rate forever.

() What is the present value of the share if the capitalisation rate is 9% ?
(@ii) If the share is held for three years, what shall be its present value ?
(8 marks)

An Indian importer has to settle an import bill for Singapore $1,30,000. The exporter
has given the Indian exporter two options :

() Pay immediately without any interest charges
(i) Pay after three months with interest @ 5% per annum

The importer's bank charges 15% per annum on overdrafts. The exchange rates in the
market are as follows :

Spot rate (I/Singapore $) : 48.35/48.36
3-Month forward rate (X/Singapore $) : 48.81/48.83
The importer seeks your advice.
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6. Gold Ltd. is considering a proposal to replace an existing equipment by a new one. The
new equipment is operationally efficient and will result in saving in operating costs estimated
at 31,50,000, annually. It will cost ¥3,00,000 and will be purchased at the beginning of
the year. The equipment deder states that most companies use a four year life while
depreciating the equipment. As the equipment will be operational in mid of the year, only
60% of the estimated annual savings will be obtained in the first year. A one time expense
of ¥30,000 will be incurred in transferring production activities from the old equipment to
the new one.

The equipment, currently in use, is fully depreciated and has no book value. However, its
condition reveals that it can be used for an additional 5 years. The firm will receive ¥5,000,
if it is disposed off now.

The company uses the straight line method of depreciation. Assuming that the full year's
depreciation is taken into account in the first year, the corporate tax rate for al revenues
and gains is 30% and required rate of return is 15%, what action should be taken by
management of Gold Ltd. ?

(16 marks)

(@]
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